Champion Bay Senior High School



YEAR NINE 25 E27 09 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 13th December 2024 Using "7TBG" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

ALL SCHOOL COLLECTION ORDERS MUST BE PRE-PAID ONLINE.

DAYS: Friday, 17 January 2025 TIMES: Friday 17th 4pm-6pm & Saturday 18th 9.30am-2.30pm

PLACE: ALLENDALE PRIMARY SCHOOL HALL

If choosing SCHOOL COLLECTION, orders must be placed online on or before the return date of Friday 13th December

2024. These orders will be available for collection, with no delivery charge, see details on right;

If choosing HOME DELIVERY, your order will be delivered by 24th January 2025 for \$10.00, if placed on or before the return date of Friday 13th December 2024. Orders placed after the return date will incur a late fee of up to \$17.50.

Please refer to our website @ www.Campion.com.au for all up-to-date information and terms & conditions.



Please tick the items required in the box provided

Item Item Qty Unit Total
No. Reqd Reqd Price \$ Amount \$

YEAR NINE

Description

Office Use

The following items are essential to enable your child to successfully participate in all classes and activities. All students are expected to come to school equipped and prepared to work from day one of the new school year. A backpack or bag (essential), closed in shoes for Science, Technologies and Home Economic lessons and a change of clothes for Phys Ed. Please be aware that items may need to be replaced throughout the year and individual teachers will advise of other items if required.

If your child's chosen subject are not on this list, there are no requirements for that subject other than general stationary.

	ii your chiid's chosen subject are not on this list, there are no requiren	nents for that sub	yeci oiner i	nan generai si	alioriary.	
	GENERAL STATIONERY					
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	1		1	1.32	1.32
P55522	Eraser Plastic Pencil Economy in sleeve	2	$\overline{\Box}$	2	0.56	1.12
P51685	Glue Stick 40gm Artline Clear	3	$\overline{\Box}$	2	2.20	4.40
P50135	Highlighters Pkt 6 Micador	4	$\overline{\Box}$	1	4.44	4.44
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	5		1	3.16	3.16
P55808	Markers Connector Pens Wallet 12 Assorted	6		1	5.52	5.52
P56095	Pen Ballpoint Cap Type Blue Medium	7		12	0.28	3.36
P56096	Pen Ballpoint Cap Type Red Medium	8		12	0.28	3.36
P56213	Pencil Case 340x170mm Name Large	9		1	2.80	2.80
P50496	Pencil (HB) Economy	10		10	0.28	2.80
P50108	Pencils-Coloured 12's Noris Club	11		1	4.16	4.16
P50090	Ruler 300mm Wooden	12		1	0.88	0.88
P50161	Scissors 170mm Maped Plastic Handle	13		1	1.84	1.84
P56243	Sharpener Pencil Metal Double Hole (HQ)	14		1	0.96	0.96
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	15		1	11.24	11.24
	CARING FOR CHILDREN					
P50281	Document Envelope A4 PP With Press Stud Clear	16		1	1.00	1.00
	CHAMPIONS INNOVATION ACADEMY					
P52032	Binder A4 2D 25mm Zipper Black with Tech Case Marbig	17		1	9.96	9.96
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	18		1	3.16	3.16
P55840	Mathomat Senior (Years 10-12)	19		1	16.84	16.84
P52116	Project Book A4 96 page Plain/8mm Spirax	20		3	1.60	4.80
P51366	Whiteboard Markers Eco Micador Pk 4	21		1	5.32	5.32
	CINEMA					
P50281	Document Envelope A4 PP With Press Stud Clear	22		1	1.00	1.00
P56176	Pencil (2B) Copperplate	23		2	0.44	0.88
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	24		1	11.24	11.24
	CREATIVE DANCE					
P65021	Document Wallet FC Polydoc Clear	25		1	2.00	2.00
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	26		1	1.04	1.04
	DIGITAL TECHNOLOGIES					
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	27		1	11.24	11.24
	DRAMA					
P50281	Document Envelope A4 PP With Press Stud Clear	28		1	1.00	1.00
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	29		1	1.32	1.32
	ENGLISH					
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	30		2	1.72	3.44
	FOOD SAFARI					
P50281	Document Envelope A4 PP With Press Stud Clear	31		1	1.00	1.00

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	∡ I Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	HEALTH					
P50281	Document Envelope A4 PP With Press Stud Clear	32		1	1.00	1.00
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	33		1	1.72	1.72
	HUMANITIES AND SOCIAL SCIENCES					
P50281	Document Envelope A4 PP With Press Stud Clear	34		1	1.00	1.00
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	35		2	1.72	3.44
	LOTE - INDONESIAN					
P50281	Document Envelope A4 PP With Press Stud Clear	36		1	1.00	1.00
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	37		1	1.32	1.32
	MATHEMATICS					
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	38		1	41.95	41.95
P55454	Display Book A4 20 Pocket Premium Black	39		1	4.08	4.08
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	40		2	1.72	3.44
P56353	Protractor 10 cm 180 4" Half Circle	41		1	0.36	0.36
	MEGATRONICS					
P50281	Document Envelope A4 PP With Press Stud Clear	42		1	1.00	1.00
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	43		1	11.24	11.24
	METALS TECHNOLOGY					
P56428	Safety Glasses Clear Wrap Around	44		1	5.16	5.16
	MUSIC - GENERAL					
P50281	Document Envelope A4 PP With Press Stud Clear	45		1	1.00	1.00
P50265	Eraser Plastic Pencil Small With Sleeve	46		1	0.24	0.24
P52506	Music Book A4 48 Page Ruled & Staved Spirax 243	47		1	1.76	1.76
P56176	Pencil (2B) Copperplate	48		1	0.44	0.44
	MUSIC - SPECIALIST					
P55442	Display Book A4 20 Pocket Black Refillable	49		1	1.72	1.72
P51709	Music Manuscript Pad A4 96 Page Deluxe (Red Cover)	50		1	6.36	6.36
	OUTDOOR EDUCATION					
P50281	Document Envelope A4 PP With Press Stud Clear	51		2	1.00	2.00
	PARTY FOODS					
P50281	Document Envelope A4 PP With Press Stud Clear	52		1	1.00	1.00
	RECREATIONAL PURSUITS					
P50281	Document Envelope A4 PP With Press Stud Clear	53		1	1.00	1.00
	ROBOTICS					
P54148	Exercise Book 225x175mm 64 Page 8mm Spirax	54		1	0.84	0.84
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	55		1	11.24	11.24
	SCIENCE					
P55443	Display Book A4 20 Pocket Navy Blue Refillable	56		1	1.72	1.72
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	57		2	1.72	3.44
			_			
	SEWING AND TEXTILES 5m of Material - Type and style to be advised					
P50281	Document Envelope A4 PP With Press Stud Clear	58		1	1.00	1.00
	•					

Please tick the items required in the box provided \downarrow

			$oldsymbol{\checkmark}$			
Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	VISUAL ARTS					
	Denim Jacket or T-Shirt to be provided for screen printing					
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	59		1	7.64	7.64
P55522	Eraser Plastic Pencil Economy in sleeve	60		1	0.56	0.56
P56081	Marker Artline #200 Black 0.4mm	61		1	3.04	3.04
P56115	Marker Artline #210 Black 0.6mm	62		1	3.04	3.04
P56176	Pencil (2B) Copperplate	63		4	0.44	1.76
P50090	Ruler 300mm Wooden	64		1	0.88	0.88
	WOODWORK					
P56428	Safety Glasses Clear Wrap Around	65		1	5.16	5.16
	WORKPLACE AND EMPLOYMENT LITERACY					
P50281	Document Envelope A4 PP With Press Stud Clear	66		1	1.00	1.00
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	67		1	1.72	1.72
		_				
	Number of Boxes ticked:					
	Postage (Home delivery only	<i>(</i>)	\$10.00	_		
	ESTIMATED AMOUNT DUI (PRICES CORRECT AT 13/11/24		\$	_		